Quiz 13

1. A Scrimmage kick by K1 is partially blocked in the NZ by R1. The kicked ball goes beyond the NZ
where R2 muffs it back behind the NZ. K2 recovers behind the NZ and advances across R's GL.

2. K, 3/10 @ K’s 10 YL. K1's punt is blocked and recovered on K's 4 YL and is simultaneously by K2
and R1.

3. K, 4/10 @ K’s 5 YL. K1’s punt is partially blocked and the kicked ball goes beyond the NZ in the air.
R1 muffs the kicked ball in flight back behind the NZ. K1 recovers the kick in his EZ and takes a knee.

4. K1 attempts to down a punt beyond the NZ, but his touching only slow it down. The bouncing ball is
subsequently recovered by R1, who advances 40 yards but then fumbles and K1 recovers. K1 is
immediately tackled.

5. A 3/9 @ B’s 20 YL. B1 leaps in the air over his 2 YL and has A’s pass in his grasp. He returns to the
ground on his 1 YL and his momentum carries him back into his EZ where he is downed.

6. Time expires for the 2Q as Al1 runs the ball beyond the LTG and Al1 then throws a forward pass to A9
who scores a TD.



